| Efficiency vs Dxy |

> 0.2
X
©
0 0.18
>
20.16
Q
S0.14
©
0.12
0.1~

.................

.................

.....................................................
.................................................

Ratio
[
Illlpl TT

.........................

[=Y
TTTTTTTT]

10 15 20
TP dxy (cm)

0 5

—=— DQM_original_stepZ2_ttbar-phasel-newgeom

| Efficiency vs Dz |

—e— DQM_mkFit_step2_ttbar-phasel-newgeom
—— DQM_angle_step?2_ttbar-phasel-newgeom

N 0.2
©
€0.18
oy
_5 0.16
(&)
£0.14
()
0.12
0.1
0.08
0.06
0.04

0.02

...............

—+— DQM_fast_step?2_ttbar-phasel-newgeom

.....................................................

_+..+.+ _______ - ++++ ___________

1

Ratio
=
l_\
IIIIIIIIIIIIII

|
Wi
o

11 1 1

N * H

. el B

: g HL A :

: : 4|4 - :
------------- + T 4 M-

. ] = hy r'S B .

N 2 Tk | b N
------------ P i * |2 B e R

! d T Trél B !

N 1 w n T n N

i i i i i

20 30
TP dz (cm)




	Contents
	Page 1


